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Analysis of dispute DnIN/NTINY "1 = 1MPNY PIN 1P1() INND N1

a

Question posed: do n»9a1 know if proper read is n’r2 n>rd (w/o conjunction), but if he said n>r21 o, 3 would agree
that it is “mixed intents” and only %104 (regardless of which was stated first)?
i Or:is proper read n’121 N1, and even there " reads as distinct statements — 1" if he said n’13 Nt
ii  Resolution: from »27’s answer to 1Y, who asked him how nTn "3 would rule in case of Yina ann N
1 »27 approved of question and answered that »1 would agree that it is mawnn 211y (%104 regardless of order)
2 Challenge (7272 »”9): this is implied by our nwn — N1 278 Y104...9NNY M1 PINa 1 Y1IRYDelse, Mmavnn 1Y
3 Block: »a1 taught w" both versions > if he mixes them as in "%’s question, obviously agrees
(a) But:»a1 taught »Y only one way; he wasn'’t sure if when he heard the students teaching both (n>r2 n>ta
and 1)1 1) »a7 disagreed with them or that just as '21 had omitted one version in teaching him, he
had omitted one (y1a ann% n'13) when teaching 1321 and »”1 would hold his ground even there->asked
(b) Question: which had »a7 taught n%?
(i) If: he taught him o131 o1, this is no 1w as it would subsume 13 oy
(if) Rather: he taught him 113 o1y and he wasn’t sure about n131 n>1
1. Question: why didn’t % ask about n>r nora?
2. Answer: he wanted to ask one which would answer both; if he asks n’21 n’13 and »27 answers that
now it is a Y93, he’ll certainly understand that pyna annb mmis a %93
3. But: if he asks n11 n°13 and 721 says 1 still holds it to be a v19, he won’t know re: pina ann% nor
a. Challenge: the inverse is true; if '17 answered that yina ann% nor is %93, he still doesn’t know
about n>121 n>1 (might still be vV19)
b. Answer: he would’ve gotten his answer — from »17’s (inevitable?) anger at him for asking
incorrectly: “if 11 no1a is a Y93, certainly yina annd nord is”
c.  Alternate answer: »11 would’ve asked “since Y11 10 no1a is a Y93, certainly nor nora is”

Further inquiries about mawnn 21y

a

If: he intended %2 no1a for 1anty yin, then %4 for ymipn5 yin then %2 for it yin
i ~27 the Y2 gets “woken up” with the final %2 and it is Y19
1 Argument: n:X mAIN0 —N¥2) of a PYRY gets mixed with n¥»ad of a 1Y, then divided — only treated like »w
(a) But: if he remixed them, re-generates status of Mwx1 (from x>0 — if both halves fell together, make »v)
(i) ~2mpi7 71 in that case, there is a full 19w of NWRI, unlike here (see next argument)
ii  ampn 77 this is mawnn 211p — only %108
1 Argument: n:R mnv — if food became nxMLN 282 RNV and some 1513, they are 970¥n to generate DNAVIY Hp
(a) Assumption: this is true, even if he later added enough to make a full nx»15 of the ax
(b) Rejection: only applies if he never completed a full n¥»a> of the nrkmvN 2K
797 92's ruling (3 versions):
i 177 if he said % noro distant, Y2 late, Y2 late — w9, as Y2 oty (1mpn? yin) cannot trump nora (late — 101H yin)
ii ~ pan:if he said Y2 oo late, V2 mom late, then %2 ot distant — Y109, as ¥4 m1 (distant) cannot trump not
iii WK "1’s version: if he said Y late, ¥4 distant, then V4 late — 919, as ¥4 1 (distant) cannot trump ot
RY '7: intent that a dog will eat it (1t yin) is reckoned and generates %19 as per v. 1 (0293 nYR is nYIR)
i Challenge: if so, intent that it will be devoured by fire should be 1nt5 yin n>ax (v. 2)
ii ~ And: the end of 'n mwn disproves that, as it distinguishes between n1vpn and n%x
1  Answer: if he said "wr nYaR”, it would be considered nY7R vis-a-vis 99; but he said n7vpn which is distinct
swx 7. if he intended that two people would eat n>ty — is this 52a? Do we look at the (n°13) nawnn or the 05K?
i Solution (»7a8):'n mwn; Y2 n1d eating, 2 mt burnt aren’t 970%n > 14 eating 2 eating (parallel - 2 eaters) - 59
~27. if he intended to eat 9”% »1an N2 13 — is this Y1957 Do we compare it to normal eating (too slow) or narn n%aR?
i Solution (»a8):'n mwn-> Y1989 H198Y merge — but narm nYaRr is slow (block: perhaps with a really hot fire — fast)

III  Formal analysis of last clause- 10pn 92R5 aren’t 970xn; implying that intending to eat something usually burnt is q70xn

a

b

7 1. the end of 'n nwn is authored by &, who holds that nam n%ax% oTR NYIRN Pawnn and vice-versa (above)

»72x: could even be 1327 — inference is incorrect - only intent to eat %1985 1377¥ 727 counts

i Question: what is it teaching? Can’t be: %1385 1277w 127 — learned from Xw»; can’t be: 1opnY 1977V 117; inferred via
1) from 979RY 1997 PRY 727; answer: 1POPNN NIRY needed; 8"0 since each is intended for its usual use, Y139 — Y"p
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